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An example of an ETR measurement is as follows:

1. Determine the sampling verticals. Assume the stream to be
30 feet wide. (See figure 1).

The stream should be divided into 10 or more equal
parts. As the assumed stream width is 30 feet we can
divide the stream into 10 equal parts by using 3 foot
intervals (30 feet divided by 3 feet); or, we can divide
the stream into 15 equal parts by using 2 foot intervals
(30 feet divided by 2 feet); or, we can divide the stream
into 30 equal parts by using a 1 foot interval; and so on. =
The sampling interval chosen for this example is 2 feet,
which divides the stream into 15 equal parts. The first
sampling vertical will be in the center of the first equal
part (4 of the 2 foot interval), or 1 foot from the edge of
water. The second sampling vertical will be in the center of
the second equel part, or 3 feet from the edge of the stream:
Likewise, each successive sampling vertical will be 2 feet
past the vertical just sampled. = _ -

Figure 1 shows the sampling verticals in the center of
each of the 15 equal parts of the stream. The sampling
verticals are 1 foot, 3 feet, 5 feet, 7 feet, 9 feet, 11 feet,
13 feet, etc. from the edge of water.

2. Determine the transit rate.
The best transit rate is the speed that the sampler
must be raised and lowered in the deepest and swiftest part ~
of the stream so that two verticals will fill one sample bottle,

The two verticals in the example (figure 1) in the deepest
part of the stream are verticals 5 and 6. If the velocity of
the stream at verticals 5 and 6 is estimated to be 2 feet per
second and the depth of water is 2 feet, then the approximate
transit rate to fill one bottle at verticals 5 and 6 is 0.4 foot
per second. Thus the maximum speed which the sampler should
be raised and lowered at all vertlcals is a llttle less than

4 foot each second. - s AT Sa e

The approximate transit rate was computed by multi-—--
plying the depth times the velocity and dividing by 10.
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Cbtain sample.

Place a clean sample bottle in the hend sampler and
sample the first verticel using 2 transit rate of less than
4 foot per second. The first vertical is 1 foot from the
edge of the water.

Next, sample the second verticel with the same trensit
rate used for the first vertical. The second vertical is
3 feet from the edge of water, or 2 feet further than the
first vertical.

Continue to sample each successive vertical until the
bottle is 3/4 full. The same transit rate used to sample
the first vertical is used to sample each successive vertical,
and each successive vertical is 2 feet further than the pre-
ceeding vertical. Replace full bottle with an empty sample
bottle. Place a cap on full bottle and write all necessary
information on front of bottle.

Continue to sample as described above until a2ll verticals
have been sampled. The completed measurement will result in
three or more bottles of water. All the bottles of water
from one measurement are usually referred to as a2 "set" of
samples.,
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